Means and Medians

1.
A random sample of size 10 was selected from the GSS survey. The raw data for the age of the sample was:

32, 37, 74, 23, 26, 33, 86, 23, 56, 30

Find the mode, mean, and median of the sample age.

2. The annual incomes of a sample of size 5 from the GSS survey was:

$14,500, $22,700, $59.000, $72,000, $30.000

Again find the mean, median, and mode.

3. Below is the frequency distribution for the religious preferences of subjects in the GSS survey. Could you find the mode? The median? Find the median. Does computing the median really make sense here?
RS RELIGIOUS PREFERENCE

	 
	 
	Freq. 
	Percent
	Valid %
	Cumulative %

	Valid
	PROTESTANT
	1664
	57.3
	57.4
	57.4

	 
	CATHOLIC
	685
	23.6
	23.6
	81.0

	 
	JEWISH
	68
	2.3
	2.3
	83.4

	 
	NONE
	339
	11.7
	11.7
	95.1

	 
	OTHER
	143
	4.9
	4.9
	100.0

	 
	Total
	2899
	99.8
	100.0
	 

	Missing
	DK
	5
	0.2
	 
	 


4. Below is the frequency distribution for the income in the GSS survey. What is the median? How could you find the mean? Do you think the mean or median, in this case, is meaningful?

TOTAL FAMILY INCOME

	 
	 
	Freq.
	Percent
	Valid %
	Cumulative %

	Valid
	LT $1000
	26
	.9
	1.0
	1.0

	 
	$1000 TO 2999
	35
	1.2
	1.4
	2.4

	 
	$3000 TO 3999
	18
	.6
	.7
	3.1

	 
	$4000 TO 4999
	31
	1.1
	1.2
	4.3

	 
	$5000 TO 5999
	43
	1.5
	1.7
	6.0

	 
	$6000 TO 6999
	42
	1.4
	1.6
	7.6

	 
	$7000 TO 7999
	31
	1.1
	1.2
	8.8

	 
	$8000 TO 9999
	77
	2.7
	3.0
	11.8

	 
	$10000 - 14999
	243
	8.4
	9.5
	21.3

	 
	$15000 - 19999
	186
	6.4
	7.3
	28.6

	 
	$20000 - 24999
	220
	7.6
	8.6
	37.2

	 
	$25000 OR MORE
	1609
	55.4
	62.8
	100.0

	 
	Total
	2561
	88.2
	100.0
	 

	Missing
	
	343
	11.8
	 
	 


5. If, by pure luck, a random sample of size 5 had included a person with an income of $1,000.000 instead of $30,000, would that most impact the mean or the median?

6. For question (1), find the average difference of all scores from the median. Is that a coincidence?

